RAHT=ROS5T R 2025.9. 7
—h TPYBLAD| BL—b  |SDYBLeAB|EPYBLAC| EDYLLAAF—U——H % | Bx%| B
EpYBpAD 1-2 0-3 0-3 0-3 0-3 o | -13| 6
b—5 2-1 0-3 1-2 0-3 0-3 1 9| 5
EpYbpAB 3-0 3-0 2-1 1-2 3-0 4 9 1
EPYBLHAC 3-0 2-1 1-2 2-1 0-3 3 1 4
EPYBLAA 3-0 3-0 2-1 1-2 2-1 4 7 2
F—y—n—K| 3-0 3-0 0-3 3-0 1-2 3 5 3
Mk BH—b [7—)—n—H iy z2 2 /R Bz

b—5 1-2 1-2 O 1 3

F—U—n—K| 2-1 2-0 3-0 3 1

/8y 2-1 0-2 2-1 2 2

22 e 0-3 1-2 0 4

ABTRE




W o o

L i 5 SEE P %
S ¥ gk o “_’,41‘_‘1,.‘5:“&!‘“%“ ¥ : ”*? ‘,é&‘
W giary X I E R Sy




